Quiz 6

Name: Student Number:

CALCULATORS ALLOWED.

1. (3 marks) Write down Newton’s three laws.
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2. (4 marks) Geosynchronous Orbit
a) Find the height above the Earth’s surface for orbiting satellite to have a period of 24

hours. Meqm = 6 X 10* kg, Rearn = 6,400 km
b) Find the speed of the satellite.
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3. (3 marks) An astronomer sees two moons of a distant planet orbiting with periods of 100

days and 200 days.
a) What is the ratio of their distances from the planet center?
b) What is the ratio of the masses of the two moons?
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